
Hyderabad

GUESS PAPER-2

Time: 3 Hours                                  ECONOMICS - II       Max.Marks:100

SECTION - A

I. i) Answer any THREE of following questions :          [3 x 10 = 30]

ii) Each question carries 10 Marks:

1. Explain the theory of demographic transition?

2. Assess the impact of green revolution on Indian Economy.

3. Examine the causes of rural indebtness and its remedial measures?

4. Explain the causes of unemployment in India? Suggest remedial measures?

5. What are the reasons for Industrial Backwardness in India?

Section - B

II. i) Answer any EIGHT of following questions :     [8 x 5 = 40]

ii) Each question carries 5 Marks:

6. Discuss the consequences of the problem of poverty
7. Write a note on objectives of NITI  Aayog.
8. Discuss the types of Pollution?
9. Explain the measures taken by the Government for Balanced Regional Development?
10. Indicate the measures to solve the problems of small scale industries?
11. Critically examine the industrial policy resolution, 1991.
12. Identify the obstacles for Globalisation in India?
13. Explain the objectives of WTO?
14. Describe the IT sector in Telangana?
15. What are the important religious tourist places in Telangana?
16. What are the sources of Industrial Finance.
17. Explain the welfare prorammes of the government of Telangana?

Section - C

III. i) Answer any FIFTEEN of following questions:   [15 x 2 = 30]

ii) Each question carries 2 Marks:

18. Inclusive growth.

19. Human poverty Index

20. National Income

21. Vicious circle of poverty

22. Birth rate

23. Micro finance.

24. Self-help groups

25. GDI

26. Infant Mortality Rate.

27. Disguised unemployment.

28. Self reliance.

29. Warehousing facilities.

30. Privatization.

31. Disinvestment

32. Balance of payments

33. Kalyana Lakshmi pathakam

34. Telangana topography

35. Sex ratio of Telangana

36. Rural urban disparities.

37. Mission Kakatiya.
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